2/14/2019 Quiz: Spring Energy Quiz - Individualized

Spring Energy Quiz - Individualized
(M This is a preview of the published version of the quiz

Started: Feb 14 at 9:24am
Quiz Instructions

g =10 m/s/s

*The quiz will reset the numbers for velocities, masses and heights after each attempt, so complete all the
questions before submitting.

Assume that friction and air resistance do not begin until the spring is uncoiled.

Assume the object begins at position 0 meters after the spring is uncoiled.

Question 1 1 pts

1. A spring with stiffness constant k = 95 N/m is compressed horizontally a total of 0.13
meters. A mass of 5.9 kg is placed in front of the spring and receives all of the spring's
potential energy when it is released. Assume no friction. What is the velocity in m/s of
the mass after the spring is fully extended? Carry the decimal to two places.

Question 2 1 pts

2. A spring with stiffness constant k = 85 N/m is compressed vertically a total of 1.73
meters. A mass of 5.1 kg is placed on top of the spring and receives all of the spring's
potential energy when the spring is released. Assume no friction. What is the maximum
height reached by the mass in meters after the spring is fully extended? Carry the
decimal to two places. g= 10 m/s/s
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Question 3 1 pts

3. A spring with stiffness constant k = 76 N/m is compressed vertically a total of 1.64
meters. A mass of 1.4 kg is placed on top of the spring and receives all of the spring's
potential energy when the spring is released. This is friction with the air resulting in heat
of 6 Joules while the mass is on the way up. What is the maximum height reached by the
mass in meters after the spring is fully extended? Carry the decimal to two places. g= 10
m/s/s

Question 4 1 pts

4. A spring with stiffness constant k = 86 N/m is compressed horizontally a total of 1.6
meters. A mass of 6 kg is placed in front of the spring and receives all of the spring's
potential energy when it is released. If there is a friction force of 2 Newtons on the mass
after it is released by the spring, how far in meters will the mass travel? Carry the
decimal to two places.

Question 5 1 pts

5. A spring with stiffness constant k = 51 N/m is compressed horizontally a total of 2.8
meters. A mass of 3 kg is placed in front of the spring and receives all of the spring's
potential energy when it is released. Assume no friction, but the object travels up an
incline with height 5 meters. What is the velocity in m/s of the mass after it reaches the
top of the incline? Carry the decimal to two places.
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Question 6 1 pts

6. A spring with stiffness constant k = 54 N/m is at the bottom of an incline. A mass of 3
kg is at the top of the incline of height 3 meters and has an initial velocity of 0 m/s.
Assume the spring receives all of the energy of the mass when it reaches the bottom of
the incline. Assume no friction. What will be the maximum displacement of the spring?
Carry the decimal to two places.

Question 7 1 pts

7. A spring with stiffness constant k = 51 N/m is at the bottom of an incline. A mass of 2.4
kg is at the top of the incline of height 1 meters and has an initial velocity of 2.8 m/s.
Assume the spring receives all of the energy of the mass when it reaches the bottom of
the incline. Assume no friction. What will be the maximum displacement of the spring?
Carry the decimal to two places.
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